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Ans. (a)

Hint: External torque is zero Angular
momentum conserved
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Ans. (b)
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Ans. (c)
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Ans. (d)

Hint: K. Erotation = 2
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Ans. (a)
Hint: KA:KB:i:i
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Ans. (c)

Hint: Impulse = |H5| = [mAV|

=m(2V cos 60°) = mV
Ans. (a)

2
Hint: Centripetal acceleration = VE =

acos 30°

= v =+vaRcos 30° = f15 X 2.5 x§= 5.7m/s

S29.
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S31.

Ans. (b)
Hint:
M

&

__ MR2
Itotal disc — 2

M
MRremoved =7 (Mass « area)
Iremoved (@bout same Perpendicular axis)

_ 3MR?
T3

=Mg+ﬂ(ﬁ)2

4 2 4 \2

IRemaing disc = ldisc — IRemoved

2
=MR _ 2 MR2=2MR2
2 32 32
Ans. (c)
Hint:
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gmr2 + (gmr2 + mrz) + (g mr? + mrz)
(Using parallel axis theorem)

= [}y = 2m? + 2mt? = 4mr?

Ans. (c)

Hint: By torque balancing about B
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